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1) 	This,is a slope fi~ld for which of the following differential equations? 

\ 

.' "'~ 
'\ , 

(A(dy'_--xy
dx 

2dy 	 x(B) -=­
dx 	 y 

(C) 	 dy =x2y 
dx 

(D) 	 dy =1. 

dx x 


dy 	 x(E) -=-	 /
dx 	 y 

@ This is a slope field for which of the following differential equations? 

(A) 	 dy 2 
-=xy
dx 

(B) 	 dy 
-=xy
dx 

(C) 	 4y x 
-=­
dx 	 y 

2(D) 	 dy x
-=­
dx 	 y 

(E) 	 dy =x2 y 
.:Jx 

'~ 	 The slope field shown at the right 
is for th~;:lifferentia1 equation 

(A)' 	 y'=x+l 
(B) 	 y' = sin x , 	 .
(e) 	 y =-smx 
(D) 	 y' =cos x 
(E) 	 y' =-cc;>sx 
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·® The slope field at the right is , .......----",../

for the differential equation , .......- -",.,/ 


.' (A) y: =2x ..............- -",.,/ 
'\ . (1}) y' =ix - 4 ..............:....--",. ,... 


" O', (C) y' =4 - 2x 
,-. . (D) y' =y 	 .............-- -",. 


(E) 	 y' =x+ y , .....-- -",../, .....- -",../ , .......-.-----./ 
[-4,4J x [-12,12] 

@The solution curve of y' = y that passes through point (2,3) is 

(A) y =~ + 3 (B) y = .J2x + 5 (C) y =O.406~ 
(D) . y = ~ - (If + 3) (E) y = ~/(O.406) ­



/,11111111111 
//////////1 

~ ----~",............... ,",...... ,
""""',\.\\\\\\\\\\\\\ 

U.s.a. -\-YLt qrcp~ O~ 
=r -V"+or 

-ll 6-10, fach 
IS ~ on~ Ci'~ 

I [-3,3] X ["":'3,3] n [-3,3] X [-3,3] 

/,---., / / /. ~"'t-"-

111/, " ...... \\:",..-....---' , ------, ""..,.. ........ ........
""""..,.. ........ , 11/-- ......'\\ 

/,'\
""""..,..
""""..,.. ................ \, ........... // 

/....---" 


",..-....---....... , 

",..-",..---......................,... 

",..-....---...............

",..-....---...............
/....---............ /",,---., 
 \\ ...... " ///11
/'....---, ,~--/ ",,---., \",. ......//1/; 

m [-5,5] X [-5,5] IV [-3,3] X [-3,3] 

-.,.,.......-""//""....-.,,...-­

."....".......-""""""""....-."...-­

.".....,......-"" "" ""."".....-..,..."...­
--.,.,...",..-""""""""."...."...."...."... 
."....".......-""""""""....-."...."...­
-.,.,.......-""""""""....-."...-­
-.".......-""//""....-.,,...-­
-.".......-""// ..........-.,,...-­

V [-2,2] X [-2,2] 

© Which slope field is for the differential equation y I =y? 

(A) I _ (B) II (C) ill (D) N (E) V 

.-..

\J:' .Which slope field is for the differential equation y I = - ~ ? 


, y 

(A) I (B) II (C) ill (D) N (E) V 

® Which slope field is for the differential equation y I =sin x? 

(A) I (B) II "(C) ill (D) N (E) V 

® Which slope field is for the differential equation y I =2x? 

(A) I (B) II (C) ill (D) N (E) V 

@ 
Which slope field is for the differential equation y I = e_x

2 
? 

(A) I (B) II (C) ill (D) N (E) . V 



) ® Which graph shows a slope field witha solu­
Which of the following is th~ slopeReld for 

'. dy '} tion to the differential equation ;Z =y2?
the differential equation x dx = Y - x.
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(A} y =x + 1 

® y=x2+2 

(C) y =x3 - 2 
(D) y = In (x + 1) 

. (E) y = 2& 

DHfiwentialEquation 

dy x 
dx =:-y 

dy
dx -y+l . 
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In a slope field, the line segments are 
(A) part of the graph of the solution to the 
.--::, differential equation 
((B) parts of the lines tangent to the graph of 
:~~~ the solution to the differential equation 

(C) 	 asymptotes to the graph of the solution 
of the differential equation 

(D) 	lines of the symmetry of the graph of the 
solution to the differential equation 

:E) none of the above 

@ Drawing a slope field . . 
~A) provides a way of visualizing the solu­

tion to a differential equation 
:B) can help find horizontal asymptotes to 

the graph of the solution of the differen..: 
tial equation . 

C) can serve as a check to the solution ofa 
differential equation 

The slope field for the differential equation 

dy =x 
ax 
(A) 	 has line segrpents symmetric to the y­

axis 
(B) 	shows that the solutions to the differen­

tial equatio: 1 are odd functions 
(C) 	 shows that the solutions to the differen­

(D) 	 can give e\idence as to the symmetry of 
the graph of the solution to a differential 
equation 

~ (E) all of the above 

~ 
. The slope field for the differential equation 

dy 2ax =x 

(A) 	 has line segments symmetric to the y­
axis 

(B) 	shows that the solutions to the differen- , 
tial equation are even functions 

(C) 	 shows that the graphs of the solutions 
are increasing for increasing x 

. (D) 	shows that the graphs of the solutions 
are decreasing for increasing x 

(E) 	shows that there are solutions that have 
a horizontal asymptote 

~ 	 dy~he slope field for ax = y shows that the 

s_9lutions to the differential equation 
.(A) 	havey-intercept (0, 1) 
(B) 	have a positive y-intercept 
(C) 	have a h(\ri.7.0nt~l B,<;:Vmptote 
(D) 	are even functions 
(E) 	are odd functions 

(D) sho:ws that the solutions to the differen­
tial equation are decreasing for increas­
ingx 

(E) 	shows that there is a horizontal asymp­
tote 


